

Infinite Series Identities Involving Central Binomial Coefficients

KunzhenZhang¹, Xinhua Xiong¹

¹(College of Science, China Three Gorges University, China)

Abstract:

By introducing parameters into the hypergeometric summation formula, and applying differential method to the summation formula, two new infinite summation formulae are obtained, which are closely related to central binomial coefficients and harmonic numbers. More similar identities can be obtained by applying this method, which illustrates the important role of hypergeometric series summation formulas in solving the problem of infinite series summation involving central binomial coefficients and harmonic numbers.

Key Word: Hypergeometric series; Central binomial coefficients; Harmonic numbers; Identities.

Date of Submission: 10-02-2023

Date of Acceptance: 22-02-2023

I. Introduction

Central binomial coefficients play an important role in the fields of number theory, probability and statistics, and combinatorics. In general, central binomial coefficients are closely related to Catalan number. Readers can refer to the paper [1]. The study on harmonic numbers has a long history. In recent years, a large number of identities involving central binomial coefficients and harmonic numbers have been derived by means of integral, difference and computer algebra [2-9]. In [2], by introducing particular parameters into some classical hypergeometric series summation formulas, and then applying the method of differentiation, many beautiful identities are obtained. Inspired by this work, this paper obtains two identities with central binomial coefficients based on a hypergeometric series summation formula.

Define generalized harmonic functions by

$$H_0^{(s)} = 0, \quad H_k^{(s)}(z) = \sum_{j=1}^k \frac{1}{(j+z)^s}, \quad z \in \mathbb{C} \setminus \mathbb{Z}^-, k, s = 1, 2, \dots$$

When $s = 1$, $H_k^{(s)}$ reduce to the classical harmonic numbers H_k . Generalized hypergeometric series are defined by [10]

$${}_{1+p}F_p \left(\begin{matrix} a_0, a_1, \dots, a_p \\ b_1, \dots, b_p \end{matrix}; z \right) = \sum_{n=0}^{\infty} \frac{(a_0)_n (a_1)_n \cdots (a_p)_n}{(b_1)_n \cdots (b_p)_n} \frac{z^n}{n!}.$$

The definition of shifted factorial $(x)_n$ in the formula above is defined by

$$(x)_0 \equiv 1, \quad (x)_n = x(x+1)\cdots(x+n-1), \quad n \in \mathbb{N}, x \in \mathbb{C} \setminus \mathbb{Z}^-.$$

In view of the definition above, $(x)_n$ obviously meets the following properties

$$(x+1)_n = \frac{x+n}{x} (x)_n, \quad \left(\frac{1}{2} \right)_n = \frac{n!}{4^n} \binom{2n}{n}.$$

For convenience, we introduce some related properties of the $\Gamma(x)$ and $\psi(x)$.

$$\Gamma(x)\Gamma(1-x) = \frac{\pi}{\sin(\pi x)}, \quad \Gamma(x+1) = x\Gamma(x), \quad \psi(x+1) = \psi(x) + \frac{1}{x},$$

$$\psi\left(\frac{1}{2}\right) = \psi(1) - 2\ln 2, \quad \psi\left(\frac{1}{4}\right) = \psi(1) - \frac{\pi + 6\ln 2}{2}, \quad \psi\left(\frac{3}{4}\right) = \psi(1) + \frac{\pi - 6\ln 2}{2}.$$

II. Three Main Lemmas

In order to express the results of this paper more clearly, the following lemmas need to be introduced.

Lemma 2.1 (Generalized Kummer Theorem) [10, p. 8-11] When $c \neq -1, -2, \dots$, then

$${}_2F_1\left(\begin{matrix} a, 1-a \\ c \end{matrix}; \frac{1}{2}\right) = \frac{\Gamma\left(\frac{1}{2}c\right)\Gamma\left(\frac{1}{2}c + \frac{1}{2}\right)}{\Gamma\left(\frac{1}{2}c + \frac{1}{2}a\right)\Gamma\left(\frac{1}{2} + \frac{1}{2}c - \frac{1}{2}a\right)}. \quad (1)$$

Lemma 2.2 When $\lambda, u, v, p, q > 0$, we can obtain

$$\left. \frac{d}{dx} \frac{1}{(\lambda - x)_n} \right|_{x=0} = \frac{1}{(\lambda)_n} H_n(\lambda), \quad (2)$$

$$\left. \frac{d}{dx} \left(\frac{\Gamma(u + \theta x)\Gamma(v + \theta x)}{\Gamma(p + \theta x)\Gamma(q + \theta x)} \right) \right|_{x=0} = \theta \frac{\Gamma(u)\Gamma(v)}{\Gamma(p)\Gamma(q)} (\psi(u) + \psi(v) - \psi(p) - \psi(q)). \quad (3)$$

The proof of Lemma 2.2 can refer to the proof of Theorem 2.1 and Theorem 2.2 in paper [2].

Lemma 2.3 When $\lambda > 0$, we have

$$\sum_{n=0}^{\infty} \frac{\binom{2n}{n}^2}{32^n} \frac{(1)_n}{(\lambda)_n} = \frac{\Gamma\left(\frac{\lambda}{2}\right)\Gamma\left(\frac{\lambda+1}{2}\right)}{\Gamma^2\left(\frac{\lambda}{2} + \frac{1}{4}\right)}, \quad (4)$$

$$\sum_{n=0}^{\infty} \frac{\binom{2n}{n}^2}{32^n} \frac{(1)_n}{(\lambda)_n} H_n(\lambda) = \frac{\Gamma\left(\frac{\lambda}{2}\right)\Gamma\left(\frac{\lambda+1}{2}\right)}{2\Gamma^2\left(\frac{\lambda}{2} + \frac{1}{4}\right)} \left(2\psi\left(\frac{\lambda}{2} + \frac{1}{4}\right) - \psi\left(\frac{\lambda}{2}\right) - \psi\left(\frac{\lambda+1}{2}\right) \right). \quad (5)$$

Proof Setting $a = \frac{1}{2}, c = \lambda - x$ in Lemma 2.1, we can obtain

$${}_2F_1\left(\begin{matrix} \frac{1}{2}, \frac{1}{2} \\ \lambda - x \end{matrix}; \frac{1}{2}\right) = \frac{\Gamma\left(\frac{\lambda}{2} - \frac{x}{2}\right)\Gamma\left(\frac{\lambda+1}{2} - \frac{x}{2}\right)}{\Gamma^2\left(\frac{2\lambda+1}{4} - \frac{x}{2}\right)},$$

According to the definition of hypergeometric series, the equation above can be transformed into

$$\sum_{n=0}^{\infty} \frac{\binom{2n}{n}^2}{32^n} \frac{(1)_n}{(\lambda - x)_n} = \frac{\Gamma\left(\frac{\lambda}{2} - \frac{x}{2}\right)\Gamma\left(\frac{\lambda+1}{2} - \frac{x}{2}\right)}{\Gamma^2\left(\frac{2\lambda+1}{4} - \frac{x}{2}\right)}. \quad (6)$$

Setting $x = 0$ in the equation(6), the equation (4) can be obtained.

Next, we will prove the equation(5). Take the derivative of both sides of the equation (6) with respect to x , we have

$$\left. \frac{d}{dx} \left(\sum_{n=0}^{\infty} \frac{1}{32^n} \frac{\binom{2n}{n}^2}{n} \frac{(1)_n}{(\lambda - x)_n} \right) \right|_{x=0} = \left. \frac{d}{dx} \left(\frac{\Gamma\left(\frac{\lambda}{2} - \frac{x}{2}\right)\Gamma\left(\frac{\lambda+1}{2} - \frac{x}{2}\right)}{\Gamma^2\left(\frac{2\lambda+1}{4} - \frac{x}{2}\right)} \right) \right|_{x=0}.$$

From Lemma 2.2, we attain

$$\sum_{n=0}^{\infty} \frac{1}{32^n} \frac{\binom{2n}{n}^2}{n} \frac{(1)_n}{(\lambda)_n} H_n(\lambda) = \frac{\Gamma\left(\frac{\lambda}{2}\right)\Gamma\left(\frac{\lambda+1}{2}\right)}{2\Gamma^2\left(\frac{\lambda}{2} + \frac{1}{4}\right)} \left(2\psi\left(\frac{\lambda}{2} + \frac{1}{4}\right) - \psi\left(\frac{\lambda}{2}\right) - \psi\left(\frac{\lambda+1}{2}\right) \right).$$

The equation (5) is follows.

III. Main results

In this section, we obtain two identities by taking some particular values in the above lemmas.

Theorem 3.1
$$\sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{1}{(n+1)^2} = \frac{32\sqrt{\pi}}{\Gamma^2\left(\frac{1}{4}\right)} + \frac{2\Gamma^2\left(\frac{1}{4}\right)}{\pi\sqrt{\pi}} - 8. \quad (7)$$

Proof In view of the definition of hypergeometric series, one has

$$\sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n} \frac{\left(\frac{1}{2}\right)^n}{(n+1)!} = \frac{2(c-1)}{(a-1)(b-1)} \left({}_2F_1\left(\begin{matrix} a-1, b-1 \\ c-1 \end{matrix}; \frac{1}{2} \right) - 1 \right). \quad (8)$$

Setting $a = \frac{3}{2}, b = \frac{3}{2}, c = 2$ in formula above, it follows that

$$\sum_{n=0}^{\infty} \frac{\left(\frac{3}{2}\right)_n \left(\frac{3}{2}\right)_n}{(2)_n} \frac{\left(\frac{1}{2}\right)^n}{(n+1)!} = 8 \left({}_2F_1\left(\begin{matrix} \frac{1}{2}, \frac{1}{2} \\ 1 \end{matrix}; \frac{1}{2} \right) - 1 \right),$$

i.e.,

$$\sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{(2n+1)^2}{(n+1)^2} = 8 \left(\frac{\sqrt{\pi}}{\Gamma^2\left(\frac{3}{4}\right)} - 1 \right).$$

Expanding the formula above, we can deduce

$$4 \sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{(2n)^2}{(n+1)^2} - 4 \sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{1}{n+1} + \sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{1}{(n+1)^2} = 8 \left(\frac{\sqrt{\pi}}{\Gamma^2\left(\frac{3}{4}\right)} - 1 \right). \quad (9)$$

Setting $\lambda = 1, 2$ respectively in equation(4), it yields that

$$\sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{(2n)^2}{(n+1)^2} = \frac{\Gamma^2\left(\frac{1}{4}\right)}{2\pi\sqrt{\pi}}, \quad \sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{1}{n+1} = \frac{8\sqrt{\pi}}{\Gamma^2\left(\frac{1}{4}\right)}.$$

From formulas above and equation(9), Theorem 3.1 follows.

Theorem 3.2
$$\sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{H_{n+1}}{(n+1)^2} = \frac{\Gamma^2\left(\frac{1}{4}\right)}{\sqrt{\pi}} \left(1 - \frac{4\ln 2 + 8}{\pi} \right) + \frac{\sqrt{\pi}}{\Gamma^2\left(\frac{1}{4}\right)} (96 - 64\ln 2 - 16\pi). \quad (10)$$

Proof Setting $a = \frac{3}{2}, b = \frac{3}{2}, c = 2 - x$ in equation(8), one has

$$\sum_{n=0}^{\infty} \frac{\left(\frac{3}{2}\right)_n \left(\frac{3}{2}\right)_n}{(2-x)_n} \frac{\left(\frac{1}{2}\right)^n}{(n+1)!} = 8(1-x) \left({}_2F_1\left(\begin{matrix} \frac{1}{2}, \frac{1}{2} \\ 1-x \end{matrix}; \frac{1}{2} \right) - 1 \right) = 8(1-x) \frac{\Gamma\left(\frac{\lambda}{2} - \frac{x}{2}\right) \Gamma\left(\frac{\lambda+1}{2} - \frac{x}{2}\right)}{\Gamma^2\left(\frac{2\lambda+1}{4} - \frac{x}{2}\right)} - 8(1-x). \quad (11)$$

According to Lemma 2.2, we can derive

$$\begin{aligned} \frac{d}{dx} \left(\sum_{n=0}^{\infty} \frac{\left(\frac{3}{2}\right)_n \left(\frac{3}{2}\right)_n \left(\frac{1}{2}\right)^n}{(2-x)_n (n+1)!} \right) \Bigg|_{x=0} &= \sum_{n=0}^{\infty} \frac{\left(\frac{3}{2}\right)_n \left(\frac{3}{2}\right)_n \left(\frac{1}{2}\right)^n}{(n+1)!} \frac{d}{dx} \frac{1}{(2-x)_n} \Bigg|_{x=0} = \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{32^n} \frac{(2n+1)^2}{(n+1)^2} H_n(2) \\ &= 4 \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{32^n} H_n - 4 \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{32^n} \frac{H_n(2)}{n+1} + \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{32^n} \frac{H_{n+1}}{(n+1)^2} - \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{32^n} \frac{(2n+1)^2}{(n+1)^2}, \\ \frac{d}{dx} \left(8(1-x) \frac{\Gamma\left(\frac{\lambda}{2} - \frac{x}{2}\right) \Gamma\left(\frac{\lambda+1}{2} - \frac{x}{2}\right)}{\Gamma^2\left(\frac{2\lambda+1}{4} - \frac{x}{2}\right)} - 8(1-x) \right) \Bigg|_{x=0} &= \frac{4\sqrt{\pi}}{\Gamma^2\left(\frac{3}{4}\right)} (\pi - 4\ln 2 - 2) + 8, \end{aligned}$$

i.e.,

$$4 \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{32^n} H_n - 4 \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{32^n} \frac{H_n(2)}{n+1} + \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{32^n} \frac{H_{n+1}}{(n+1)^2} - \sum_{n=0}^{\infty} \frac{\binom{2n}{n}}{32^n} \frac{(2n+1)^2}{(n+1)^2} = \frac{4\sqrt{\pi}}{\Gamma^2\left(\frac{3}{4}\right)} (\pi - 4\ln 2 - 2) + 8. \tag{12}$$

Setting $\lambda = 1, 2$ respectively in equation(5), it yields that

$$\sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n}^2 H_n = \frac{\Gamma^2\left(\frac{1}{4}\right)}{4\sqrt{\pi}} \left(1 - \frac{4\ln 2}{\pi}\right), \quad \sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{H_n(2)}{n+1} = \frac{4\sqrt{\pi}}{\Gamma^2\left(\frac{1}{4}\right)} (6 - 4\ln 2 - \pi).$$

Making use of formulas above and equation (12), Theorem 3.2 follows.

IV. Conclusion

In this paper, two identities involving central binomial coefficients and harmonic numbers are obtained by differential method. It is obvious that more identities can be obtained by applying the method. If the formula in Theorem 3.2 is further explored, we can derive the following formula

$$\sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n}^2 \frac{H_{n+1}}{(n+1)^2} = \sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{H_n}{(n+1)^2} + \sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{1}{(n+1)^3}.$$

If we can find the value of any one of the term of RHS of the formula above, we may be able to obtain the

method of computing the value of $\sum_{n=0}^{\infty} \frac{1}{32^n} \binom{2n}{n} \frac{1}{(n+1)^k}$, which needs further exploration.

References

- [1]. Boyadzhiev W, Series with central binomial coefficients, Catalan numbers, and harmonic numbers. *Journal of Integer Sequences*. 2011, 15(1).
- [2]. Liu H, Wang W, Gauss's Theorem and Harmonic Number Summation Formulae with Certain Mathematical Constants. *Journal of Difference Equations and Applications*, 2019, **24**(1/4):313-330.
- [3]. Choi J, Summation Formulas Involving Binomial Coefficients, Harmonic Numbers, and Generalized Harmonic Numbers. *Journal of Inequalities and Applications*, 2013.
- [4]. Cantarin M., D'Aurizio J., On the interplay between hypergeometric series, Fourier–Legendre expansions and Euler sums. *Bollettino dell'Unione Matematica Italiana*. 2019, 12:623–656.
- [5]. Ferretti F, Gambini A., Ritelli D., Identities for Catalan's Constant Arising from Integrals Depending on a Parameter. *Acta Math. Sin. (Engl. Ser.)*. 2020, 36(10):1083–1093.
- [6]. Sofo A., Srivastava H., Identities for the harmonic numbers and binomial coefficients. *The Ramanujan Journal*. 2011, 25:93-113.
- [7]. Wang X, Chu W, Further Ramanujan-like Series Containing Harmonic Numbers and Squared Binomial Coefficients. *The Ramanujan Journal*, 2020, 52(1): 641-668.
- [8]. Lehmer D., Interesting Series Involving the Central Binomial Coefficient. *The American Mathematical Monthly*. 1985, 92(7):449-457.
- [9]. Batr N, Finite Binomial Sum Identities with Harmonic Numbers. *Journal of Integer Sequences*. 2021, 24, Article 21.4.3.
- [10]. Bailey W, *Generalized Hypergeometric Series*. Cambridge: Cambridge Univ, Press, 1935:8-11.